Simplificando polinomios

Nombre: Fecha: Puntuacion:
6x + 2% + Tx + 5x° — 2x S5x° + 2x% + 3x — 4(2x + 5%)
2(2x+ 4x7) + dx — 5x% — 8&x° 30+ 8 — 207 — 4 — 4y’
2(5x3 — 9x3) +x— 7% — 9 4(8x3 + 8x3) +5x+ Ta + 2
Ox% + 3x + 9x° + 2(3x + 7x3) 4x— 6x° — 62 — Tx° — 8x
6x° — dx — 4(x2 + 9x2) —2x° T+ 48+ 70+ 6 + 7
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Simplificando polinomios

Nombre:

6x + 2% + T + 5x — 2x
14> + 4x

2(2x + 4x%) + 4x — 5x° — 8x°
—8x> + 3% + 8x

2(5x° — 9x° )+x— 7 — x>
—24x> + x

0% + 3x+ 9% + 2(3x + 7x)
2353 + 92 + 9x

632 — 4x — 4(x% + 9x%) — 2x?
—36x% — 4x

Fecha: Puntuacion:

5% + 2x° + 3x — 4(2x + 5x)
7 — 25x

37 + 8x — 2% — do® — 4y
3% — 10:% + 8x

4(8x° + 8x) + 5x + TaZ + 2x?
64x> + 9% + 5x

Ax— 6x° — 6x% — Tx° — 8x
—13x° — 6% — 4x

T2+ 4 + 76 + 6x° + Tx?
17 + 1452

www.snowmath.com



https://www.snowmath.com

